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gD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2015
(CUCBCSS—UG)

Core Course

BCM 3B 04—CORPORATE ACCOUNTING

. Three Hours Maximum : 80 Marks

Par'q A

Answer all gquestions.
Each question carries 1 mark.

~ Choose the correct answer :

1 Assets acquired in satisfaction of claims : ®
(a) Banking assets. (b) Acquired assetsi\"'fi:;jb
(¢) Purchased assets. | (d) Non banldhg aqséts
9 Unexpired discount : ."’ Yy o
(a) Prepaid discount. (b) Ouﬁktanamg discount.
(¢) Unearned discount. VN ‘Rebate on bills discounted.
any before maturity of the

3 The outright sale of a policy by the msurecl to t'he insurance comp
policy. . “.-k N\

(a) Surrender of policy. ﬁ . N \l"b) Sale of policy.

(d) Bonus.

(¢) Reversion.
4 The insurance policy whmﬁ‘matmes only on death of the insured :
i (b) Whole life policy.

(d) Without profit policy.

(a) Endowment pghqx
(¢) With profit policys’
5 Unclaimed dividend is shown on the liabilities side of the Balance Sheet :
(a) Reserves and Surplus.
(b) Long term borrowings.
(¢) Current liabilities and provisions.
(d) Share cap1ta1
F[I Fill in the blanks :
6 A policy which matures afte

7 In life insurance companies

r the expiry of a particular period is called ————

investments come under schedule number

Turn over
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isting companies, it

CRR represents — .
sy S
Liability for partly paid investment ]  pusiness ©
x1=1

When an existing company.

called ——

ht questO™ o marks. aki
. mpany for & Ng payment y
purchasing ct;m I;lgam ation in the nature 4

n the case ©

Answer any el

Each qUe
by the

What is the iournal
J s of the vendor company 1

liquidation expense
purchase ?
What is external re

What is intrinsic value method ?
What is the journal entry for the following €
of Rs. 100 each fully paid have been reduce

of Rs. 10 each.

What are performing assets ?
short notice ? ¢ &7

construction?
heme of capi’i,ﬁi;rg;luction ? 50,000 e.quity shareg
d to an equalynumber of fully paid up share

What is money at call and

Define insurance.
What is valuation Balance Sheet ?__ o
What is Capital Redemption Resefye2,

Mention the sources from where H&j_béck can be made ?
\'® A S - (8 x 2 = 16 marks

Part C

An#wér_-_any six questions from the following.
Each question carries 4 marks.

gn fl“ March 2011, Fhel {.,ife Assurance fund of an insurance company stood 2
As&iv;ise,ﬁg,ogoﬁits net liability as per actual valuation as on that date was Rs. 86,00 00(
hdiess bz:) ! ::S ofR'sgfg(’]OgggwaS pajf:ble ;0 the share holders for the year 2010;11 ,Bl.;t al
.4,50,000 was paid to the policy hold ] :
= y holders during t i 1
315t March 2011. Prepare Statement showing the amount nmf al*l.:i;:;?)f:ee:; lLermd etn dg'll]
onus to th

policy holders.
Explain the different Classification of debentures

Calculate Rebate on bills discounted as on 31-3- 2010

Date of the bill Am
ount Rs. Pe ‘od ;
20-01- riod of bill Rat .
10-021 33 0, - 80,000 5 months e of Discount
-201
v w 40,000 Asiibnthe 16 %
18 %

10 " 60,000 . months



3 D 92%\

gtate the difference between amalgamation in, the nature of merger and amalgamation in the

A

2 nature of purchase.

95 What is a share ? What are the different classes-of shares ?

96 YLtd. Issued 2,000 shares of Rs. 10 each at a premium of Rs. 2 per share. The amount was
payable as Rs. 3 on application, Rs, 4 on allotment (incl.premium) and the balance on first
and final call. All shares were subscribed and money duly received. Show the journal'entries.

27 S Ltd. invited .app!ications for 5,000 shares of Rs, 100 each at a premium of 6 % payable as
Rs. 25 on application, Rs. 45 on allotment (incl. premium) and Rs. 35 on first and final call.
The applications received for 4,000 shares and all of these shares were accepted. All money
dues were received except the call on 100 shares which were forfeited. Of these 50 shares
were reissued @ Rs. 90 as fully paid. Pass journal entries.

28 State the difference between amalgamation in the nature of merger and amalgamation in the
nature of purchase. =

(6 x 4 = 24 marks)
Part D -
Answer any two questions frc_s#i th‘éf_following.
Each question carrigs 15 ritarks

29 What is Purchase Consideration ? Explain ‘@ifferent methods of calculating purchase
consideration in the case of amalgamation, 4

30 Following is the Balance Sheet of G<Lt@waS on 31-3-2010

Liabilities w " Rs. Assets | Rs.
Share capital n— | Goodwill 22500
3,000,5% preference shares of Land and Building 3,00,000
Rs. 100 each ., N M 3,00,000 | Machinery 4,50,000
6000 Equity shares of'Rs. 100 | Stock 65,000
éach v, 6,00,000 | Debtors 70,000
6 % Debentures 1,50,000 | Cash 7,500
Bank overdraft 1,50,000 | Profit and Loss Account 3,50,000
Creditors 75,000 | Preliminary expenses 10,000
12,750001 12,75,000

Turn over
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y adopted following 8

uced to fully paid shares of Rs.

On the above date, the compan
fuﬂy pald up.

" (i) The preference shares are to be red

shares are to be reduced to §
t.ook over the stock and deb
mmatéd

(i The debenture holders
glble assets are o be ell

(iii) The fi ctltmus and intan
(iv) The land and buildings to be apprecxated by 30
3313 %.

(v) Expenses of reconstruction amo
ating the above S

% and machlner}’ t

unted to Rs 4,500.

- . * . - co
(vi) Give journal entries Incorpor cheme of re

‘ reconstructed Balance Sheet.

ALtd ason g1st March 2012.

75 eaCh an.d. Equity

t.1on of the:r claimg

o be depreciated by

nstructmn and prepare the

31 The following is the summarizéd Balance sheet of 25
Liabilities Rs. Assels N\ d
Share Capital Fixed Assets
40000 equity shares of Rs. 10 Lanﬂ"a!:ld Building .2’00'000
each 4,00,000 [(Plant and Machmery 1,00,000
Reserves and Surplus \ .Furmture 80,000
Capital Reserve Account 1,80‘,0.065 | Investments
Profit and Loss Account 80,000 | Current Assets
Secured Loan &, N\ Stock 40,000
10 % Debentures : _'-.2700.000 Sundry Debtors 60,000
Current liabiliti
Provisions esand 4 2::11: ' PO
. cred:t,urs ) - 20,000 el 80000
8,60,000 -
8 ,60,0000

On 15t April 2012 B. Ltd took over the business of A Ltd as per i;he following t
erms :

(a) Debentures are to be discharged at a premium of 5 % in B Ltd

(b) Creditors are to be paid off by B Ltd.

(c) B Ltd. will issue 5 equity shares of Rs. 10
. 10 ea
equity shares of A Ltd. ch at a market va

(d) Cost of liquidation Rs. 10,000 is to be paid by B Ltd

Close the books of A Ltd. and pass opening entries’in the b
amalgamation in the nature of merger. e boo

lue of Rs. 11 for every 4

k

(2 x 15 = 30 marks)




